S0 ABS-3S.D.= 0.9457-3><0.0169=0.8949
5.1.5 0.0053ug/L
0.025ug/L SD
3SD 10SD 0.0033pug/L
0.011ug/L Oug/L 0.0053ug/L
( 0.020pug/L 0.025ug/L)
(©))
5.1.8
STD1 STD2 STD3 STD4 STD5
ug/L 0.025 0.05 0.10 0.50 1.0
3 3 3 3 3
ELISA 0.832 0.614 0.500 0.361 0.181 0.125
0.807 0.628 0.502 0.371 0.167 0.123
0.826 0.620 0.494 0.351 0.170 0.114
5.1.9 [Y=B+ (A=-B)@+CXY 1
B C N R2
0.822 0.090 18.8 1.05 *

RZ
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5.1.3

“[Todoy T 020 I 020
00 0.005 0010 0.050

| Conc

5.1.10

S3

ug/L 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.10

0.344 0364 A 0362 | 0361 @ 0358 . 0368 0352 @ 0.364

0.358 : 0.352 : 0.354 | 0.365 : 0.357 : 0.367 ;| 0.365 : 0.351
ELISA

0.374 0.352 0.367 0.358 0.359 0.362 0.354 0.370

0.359 0.356 0.361 0.361 0.358 0.366 0.357 0.362

ug/L | 0.104 0.106 0.103 0.102 0.104 0.100 | 0.105 0.102

ug/L 0.0017
% 1.7
0.10pg/L 8
1.7 0.2ug/L 2.74%
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4

5.1.11.1

STD1 STD2 STD3 STD4 STD5

ug/L 0 0.025 0.05 0.10 0.50 1.0

3 3 3 3 3 3
ELISA 0.817 0.641 0.479 0.366 0.168 0.125
0.809 0.629 0.476 0.364 0.166 0.114
0.789 0.627 0.488 0.354 0.164 0.120

5.1.12.1 [Y=B+(A-B)(+CXY) ]
A B C N R2
0.807 0.100 251 1.15 *
* RZ
5.1.4.1

Todoy T 0020 I [ 030 I
a0 0.005 ado 0.050 ola 0.50 1

| Cone
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5.1.11.2

STD1 STD2 STD3 STD4 STD5
ug/L 0 0.025 0.05 0.10 0.50 1.0

3 3 3 3 3 3
ELISA 0.812 0.617 0.469 0.346 0.168 0.121
0.809 0.614 0.488 0.344 0.168 0.123
0.805 0.615 0.467 0.348 0.169 0.117

5.1.12.2 [Y=B+(A-B)(+CXY) ]
A B c N R?
0.809 0.102 26.0 113 *
R2
5.1.4.2

070

0804

050

0404

030

0204

0.104

T0.002 T
o 0008 adia

0.020
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5.1.11.3

STD1 STD2 STD3 STD4 STD5

ug/L 0 0.025 0.05 0.10 0.50 1.0

3 3 3 3 3 3
ELISA 0.818 0.628 0.488 0.366 0.188 0.135
0.772 0.632 0512 0.377 0.185 0.134
0.833 0.624 0.519 0.365 0.179 0.126

5.1.12.3 [Y=B+(A-B)(+CXY) ]

A B c N R?

0.808 0.107 207 1.10 *

R2
5.1.4.3

070

050

050

0404

030

020

010

—a0

T0.002
00

0.00s oo

0020
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5.1.13

S1

S2

S3

S4

S5

ug/L

0.025

0.025|0.025

0.05

0.05

0.05

0.10

0.10

0.10

0.50

0.50

0.50

1.0

1.0

1.0

0.812

0.810

0.818

0.606

0.629:0.618

0.499

0.495

0.506

0.346

0.336

0.364

0.160

0.169

0.181

0.116

0.120

0.138

0.827

0.800

0.810

0.640

0.610/0.612

0.485

0.505

0.502

0.349

0.334

0.366

0.174

0.167

0.178

0.117

0.131

0.139

0.809

0.788

0.812

0.618

0.624:0.614

0.484

0.499

0.507

0.337

0.349

0.359

0.171

0.173

0.168

0.117

0.130

0.134

0.816

0.794

0.813

0.622

0.621|0.615

0.490

0.500

0.505

0.344

0.339

0.363

0.169

0.169

0.176

0.117

0.127

0.137

ng/L

0.025

0.023:0.027

0.051

0.045

0.050

0.107

0.104

0.106

0.429

0.414

0.482

1.554

1.121

1.090

ng/L

0.0017

0.0032

0.0018

0.037

0.25

%

6.6

6.4

1.6

8.4

20.6

2.2%)
10%

1.

6%

1.

0.5ug/L

Oug/L

26
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®

5.1.14.1

STD1 STD2 STD3 STD4 STD5

ug/L 0 0.025 0.05 0.10 0.50 1.0

3 3 3 3 3 3
ELISA 0.871 0.703 0.547 0.431 0.203 0.131
0.920 0.694 0.559 0.408 0.202 0.135
0.898 0.689 0.556 0.433 0.206 0.133

5.1.15.1 [Y=B+(A-B)(+CXY ]
A B C N R?
0.897 0.087 13.7 0.991 *
* RZ
5.1.5.1

T ThdoZ

I
0.005

0.d20
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5.1.14.2

STD1 STD2 STD3 STD4 STD5

ug/L 0 0.025 0.05 0.10 0.50 1.0

3 3 3 3 3 3
ELISA 0.650 0.529 0.418 0.281 0.157 0.118
0.641 0.503 0.409 0.296 0.161 0.112
0.641 0.534 0.418 0.291 0.160 0.114

5.1.15.2 [Y=B+(A-B)@+CXYH ]

A B c N R?

0.644 0.114 415 1.33 *

R2
5.1.5.2

——o0.0-

T0.dod
i)

)
0,005 0010

0020

0.050
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5.1.16

SO S1 S2 S3 S4 S5
0 1 0 1 0 1 0 1 0 1 0 1
ug/L 0 0 0.025 | 0.025 | 0.05 0.05 0.10 0.10 0.50 0.50 1.0 1.0
3 3 3 3 3 3 3 3 3 3 3 3
0.891 | 0.689 | 0.705 | 0.519 | 0.567 | 0.413 | 0.405 | 0.292 | 0.188 | 0.156 | 0.130 | 0.122
0.904 0.665 | 0.683 | 0.538 | 0.534  0.414 | 0.411 | 0.292 | 0.189 @ 0.147 | 0.134 | 0.119
0.896 | 0.698 | 0.674 | 0.530 | 0.569 | 0.406 | 0.415 | 0.295 | 0.191 | 0.148 | 0.133 | 0.123
0.896 | 0.684 | 0.687 | 0.529 | 0.556 | 0.411 | 0.410 | 0.293 | 0.189 | 0.150 | 0.132 ' 0.121
ug/L 0.025 | 0.023 | 0.052 | 0.051 | 0.108 { 0.101 | 0.506 | 0.433 | 1.26 1.51
ug/L 0.003 | 0.002 | 0.005 | 0.001 | 0.003 : 0.001 | 0.009 : 0.045 | 0.064 : 0.408
% 10.2 7.9 10.3 2.5 2.6 1.0 1.7 10.4 5.1 26.8
(0.10ug/L
4.74%) 1.0% 0.5ug/L 10%
1.0pg/L 26.8%
151%
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(©)

5.1.17.1 ( A)
STD1 STD2 STD3 STD4 STDS
ug/L 0 0.025 0.05 0.10 0.50 1.0
3 3 3 3 3 3
ELISA 0.739 0.618 0.465 0.380 0.184 0.122
0.723 0.600 0.457 0.345 0.185 0.119
0.737 0.611 0.468 0.334 0.181 0.109
5.1.18.1 [Y=B+(A-B)(Q+CXY ]
A B C N R2
0.736 0.111 26.3 1.21 *
* RZ
5.1.6.1

Moo
o

T | 0.020
0003 oo

T
0.050
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5.1.17.2 ( B)
STD1 STD2 STD3 STD4 STD5
ug/L 0 0.025 0.05 0.10 0.50 1.0
3 3 3 3 3 3
ELISA 0.871 0.703 0.547 0.431 0.203 0.131
0.920 0.694 0.559 0.408 0.202 0.135
0.898 0.689 0.556 0.433 0.206 0.133
5.1.18.2 [Y=B+(A-B)(+CXY ]
A B C N R?
0.897 0.087 13.7 0.991 *
RZ
5.1.6.2
T
£ S \‘4\‘
0304 \\“\

0204

0.000

L]
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5.1.17.3 ( 0)
STD1 STD2 STD3 STD4 STD5
ug/L 0 0.025 0.05 0.10 0.50 1.0
3 3 3 3 3 3
ELISA 1.084 0.818 0.670 0.511 0.267 0.193
1.052 0.806 0.667 0.500 0.255 0.190
1.081 0.814 0.676 0.511 0.256 0.197
5.1.18.3 [Y=B+(A-B)@Q+CXY) ]
A B C N R?
1.07 0.136 14.0 0.974 *
RZ
5.1.6.3

on

Todod
00

0005 0010

0020
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A,B: C:
5.1.19
SO S1 S2 S3 S4 S5
ug/L 0 0 0 1]0.025/0.025{0.025/0.05{0.05{0.05|0.10{0.10{0.10({0.50{0.50{0.50( 1.0 {1.0{ 1.0
3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3
0.779:i0.891i1.068{0.583:0.705:0.829|0.499:0.567:0.676|0.348:0.405i0.493(0.172:0.188:0.269|0.132:i0.130:0.187
0.790(/0.904{1.087{0.605/0.683/0.825|0.493/0.534/0.685|0.349/0.411/0.513{0.178(0.189/0.252|0.128/0.134(0.187
0.785:0.896:1.078({0.592:0.674:0.816{0.499:0.569:0.690(0.334:0.415:0.496(0.182:0.191:0.263|0.130:0.133:0.187
0.785{0.897{1.078({0.593{0.687{0.823|0.497/0.556{0.684|0.343{0.410{0.501{0.177{0.189{0.261|0.130{0.132{0.187
ug/L — — 0.025:0.025:0.023({0.046:0.052:0.047|0.104:0.108:0.106|0.395:0.506:0.454{1.205:1.261:1.258
},tg/L 0.0009 0.0034 0.0018 0.055 0.031
% 3.9 7.2 1.7 12.2 2.5
12% 1.0pg/L

120 126 125%
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Q)

5.1.20.1

STD1 STD2 STD3 STD4 STDS

ug/L 0 0.025 0.05 0.10 0.50 1.0

3 3 3 3 3 3
ELISA 0.812 0.617 0.469 0.346 0.168 0.121
0.809 0.614 0.488 0.344 0.168 0.123
0.805 0.615 0.467 0.348 0.169 0.117

5.1.21.1 [Y=B+(A-B)/(+CXY ]
A B C N R2
0.809 0.102 26.0 1.13 *
* RZ
5.1.7.1

—on

T oz
0o

0.005 a0

o.620

T
0.050
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5.1.20.2

S0 s1 s2 s3 sS4 S5

ug/L 0 0.025 0.05 0.10 0.50 1.0

3 3 3 3 3 3

ELISA 0.810 0.629 0.495 0.336 0.169 0.120
0.800 0.610 0.505 0.334 0.167 0.131

0.788 0.624 0.499 0.349 0.173 0.130

5.1.21.2 [Y=B+ (A-B)Q+CXYH ]
A B c N R?
99.9 14.3 343 1.24 *
R2
5.1.7.2 PBDE-47 (%B/Bo)

ZRB/ED

—

100

Togod 1
0o

0.00s

0010

0020

T
0.0s0
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5.1.20.3

S0 s1 S2 S3 sS4 S5

ng/L 0 0.025 0.05 0.10 0.50 1.0

3 3 3 3 3 3

ELISA 0.810 0.666 0.526 0.368 0.183 0.131
0.800 0.661 0.534 0.363 0.174 0.134

0.788 0.670 0.527 0.368 0.180 0.131

5.1.21.3 [Y=B+ (A-B)(@+CXY ]
A B c N R2
100 15.9 43.9 1.39 *
R
5.1.7.3 PBDE-99 (%B/Bo)

ZRB/ED
100

——o.0-

S0+

80

04

B0

S0+

40+

oL

20+

T0do2 I
0’ 003 oo

0020

T
0050
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5.1.20.4

SO S1 S2 S3 S4 S5
},Lg/L 0 0.05 0.10 0.20 1.00 5.00
3 3 3 3 3 3
ELISA 0.810 0.712 0.649 0.553 0.369 0.197
0.800 0.709 0.652 0.572 0.357 0.192
0.788 0.694 0.649 0.570 0.367 0.192
5.1.21.4 [Y=B+ (A-B)(@+CXY) ]
A B C N R2
100 10.4 1.59 0.764 *
»
5.1.7.4 PBDE-28 (%B/Bo)

%B/ED
100

S0

a0

04

g0

so-t

40+

30+

20+

a0 | 0.020 T [ 020 I 20
ag 0.005
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5.1.20.5

S0 s1 s2 s3 sS4 S5
ng/L 0 0.10 0.50 5.0 10.0 50.0
3 3 3 3 3 3
ELISA 0.810 0.667 0.534 0.314 0.240 0.103
0.800 0.658 0.520 0.316 0.244 0.110
0.788 0.659 0515 0.303 0.236 0.105
5.1.21.5 [Y=B+ (A-B)Q+CXYH ]
A B c N R?
100 -8.50 0.615 0.474 *
R2
5.1.7.5 PBDE-100 (%B/8Bo)

SB/B0
100+

20+

80

04

60

sot

a0

EEE

20+

—n

T 1
0.050

oioo.ow 0.0

5.1.22
PBDE-47 PBDE-99 PBDE-28 PBDE-100
50% ug/L 0.077 0.0874 0.743 2.01
100.0 88.1 10.3 3.83
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3 PBDE-99 88.1% PBDE-28 10.3 PBDE-100 3.83%
(PBDE-99 90.0% PBDE-28 15.0% PBDE-100 2.45%)

5.2
@
5.2.1
STD1 STD2 STD3 STD4 STD5
ug/L 0 0.025 0.05 0.10 0.50 1.0
3 3 3 3 3 3
ELISA 0.838 0.624 0.499 0.387 0.184 0.137
0.808 0.626 0.518 0.377 0.171 0.135
0.830 0.631 0517 0.369 0.193 0.140
5.2.2 [Y=B+(A-B)(@+CXY ]
A B c N R?
0.825 0.101 17.3 1.03 *
. R2
5.2.1

Thoes ] a5 T T o \
0° 0005 ga1n aoso olo 0.50 1




0.10ug/L PBDE-47
0,1,5,10,50mg/L
5.2.3
HO H1 H2 H3 H4
Na mg/L 0 1 5 10 50
3 3 3 3 3
0.382 0.363 0.360 0.382 0.367
0.361 0.363 0.357 0.368 0.364
ELISA 0.373 0.356 0.359 0.366 0.363
0.372 0.361 0.359 0.372 0.365
ug/L 0.105 0.112 0.114 0.105 0.110
% 6.03 2.31 0.88 4.87 1.19
% 105 112 114 105 110
PBDE-47 0.10ug/L PBDE-47
100mg/L
¢)
5.2.4.1
STD1 STD2 STD3 STD4 STD5
ug/L 0 0.025 0.05 0.10 0.50 1.0
3 3 3 3 3 3
ELISA 0.782 0.594 0.467 0.359 0.168 0.132
0.770 0.591 0.457 0.360 0.167 0.128
0.774 0.583 0.470 0.342 0.167 0.122
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5.2.5.1 [Y=B+(A-B)/(l+CXY ]
A B C N R?
0.775 0.094 18.2 1.04 *
RZ
5.2.2.1
- Todes | s nn 0ds0 [ o ok
iu 001 L
5.2.4.2
STD1 STD2 STD3 STD4 STD5
ug/L 0 0.025 0.05 0.10 0.50 1.0
3 3 3 3 3 3
ELISA 0.804 0.625 0.478 0.348 0.191 0.150
0.788 0.631 0.471 0.382 0.184 0.149
0.797 0.638 0.497 0.361 0.183 0.154
5.2.5 [Y=B+ (A-B)(+CXY
A B C N R?
0.797 0.137 34.1 1.23 *

RZ
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5.2.2.2

——0.0-

ToeeE
ik

) 0.020
0005 0010

T
0.0s0

5.2.6.1 (ELISA )
3 3 3
1 0.748 0.737 0.808
ELISA 2 0.741 0.753 0.793
3 0.779 0.722 0.789
1 <0.0033 | <0.0033 | <0.0033
2 <0.0033 | <0.0033 | <0.0033
po/L
3 <0.0033 | <0.0033 | <0.0033
ug/L | <0.0033 | <0.0033 | <0.0033
%
ELISA 1 0.0033ug/L 2 0.0053ug/L
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5.2.6.2

GCNS )

<0.0005 | <0.0005 @ <0.0005

<0.0005 = <0.0005 = <0.0005

no/L
<0.0005 | <0.0005 | <0.0005
ug/L | <0.0005 | <0.0005 & <0.0005
GC/NS (VDL)  0.0005ug/L (1000
5.2.6.3 (ELISA )
) ug/L | 0.04 0.04 0.04 0.04
3 3 3 3
1 0.669 0.637 0.638 0.674
ELISA 2 0.661 0.661 0.645 0.687
3 0.664 0.659 0.644 0.663
1 0.018 0.023 0.023 0.017
2 0.019 0.019 0.022 0.016
no/L

3 0.019 0.020 0.022 0.019
ug/L | 0.019 0.020 0.022 0.017
% 3.07 9.60 2.58 9.71
* ug/L | 0.037 0.041 0.043 0.034
% 100 110 116 91.8

50%
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5.2.6.4 (GC/NS )
« ) ug/L 0.04 0.04 0.04
3 3 3
1 0.018 0.030 0.033
2 0.021 0.029 0.027
ng/L
3 0.022 0.030 0.027
ug/L 0.020 0.030 0.029
% 10.6 0.93 12.2
/ % 51.3 75.4 73.5
PBDE-47 ELISA GC/MS
0.04ug/L PBDE-47
ELISA 91 116% GC/MS 51 75%
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(€H)
0.025 1.0pg/L
@)
(0.04pg/L)  PBDE-47
PBDE
PBDE
3)
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